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He should bring witnesses — DIIR2 7DTLIW 237 NO2°
that it was Kkilled by an unpreventable accident

OVERVIEW
The 770 writes the 77 of a 72w W that he is 21 for (77°2X1) 72°13 and MWD from
701X, The 0°»100 read as follows:
NY2W > ART PR 7203 IR 2w IR DN WY a2 91 70 IR MW IR A0 17V DR WOR 0D v
MY 213 213 ORI x QYW KDY POV 1PYY WYY NORYNA 1T mRw KD OR QAW P2 50N M
07w XY 719707 7V IR 9700 470 OR > 1POVaL abws
The w"w does not have to pay if he can prove that it was an 01X as in 2> P09
(which is also indicated in our Xn»12, cited by this MdoIN) or if he takes an oath
that it was an DX as in " Pd. There are limitations as to when the ¥"®w can be
exempt from paying by (merely) taking an oath, and not providing witnesses.
mooIn will clarify the position of our Xn*72 with regards to this matter.
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And 25X who interprets the words 1819 7°R (there is no seer; there are no o7y who

saw what happened), to mean -
- 299) N9V B%1Y N2> NN WO NN

That if there was a iR (if 2°7v frequent the alleged place of the accident), the

212 should bring witnesses that it was killed and only then will he be 21us; is
not in conflict with our NN”‘D,3 but rather -

$1999222 NI'N PYNT Mynvng
The difference between "0°X and our X002 is (merely) the inference of the
interpretation.4 0% is of the opinion that the Do of XM X lends itself easier to be

interpreted that if X117 w° then 0°7¥ are required; while the Xin of our Xn»72 prefers to derive this
same ruling from the P05 of ¥ 1X*2* A7V A7V OX.

''1,23 [o*wown] mnw. This P05 as well as the (2°,20) 79 X"’ 77L° 470 DX 100 are both written in the w12 of a MW
0.

2 If the place, where the w"w claimed the accident took place, is frequented by people and it is assumed that people
saw the incident, then the w"w is not believed with a 712w that it was an 01X, but rather he must provide o°7y that
indeed it was an DIX.

3 Our ™12 merely mentions that if the w"w brings 79701 07, he is 1w2; it does not say that he is not believed
with a 7912w if we presume that 07y saw it. One may assume that *0°X and our X092 are in dispute in this matter.
mooIN negates this assumption. See following footnote # 4.

*1t is difficult to assume that our X012 is merely teaching us that if he brings 2>7v he is 1102 (see previous footnote
# 3); for that is obvious (since he is Md even if he only swears that it was 10181, then certainly he will be 72 if
there are 0181w 0*7Y) . [See however, ‘Thinking it over’.] We must rather assume that our ¥n»92 concurs with 0K,
and the 77N is teaching us that if there is an 7¥, then he must bring the 2>7¥, and a 712w will not suffice.
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SUMMARY
Our Xn*12 and °0°X concur that if there were 2°7v, the w"¥ 1s not believed with a
712w, but must rather bring the 277v.

THINKING IT OVER

One of the Myaw of a (W) W is T 2 *nrow Xow;’ for if he was 7 79w in the
1725, then even if it was DIX1 later, the W is still 27. It is possible that our Xn>12
is teaching us that if the " bought 0181w 0°7¥ he is MWd (even) from the 712w of
7 73 nmow X9w.® How can mooin be certain that our X092 concurs with *0°X?
Perhaps our Xn>72 maintains that he is always 7¥12w2 X1 even if there are 07y,
and the ©17°1 of 7v 7827 is that he is 7 72 *nr>w X5w 'Avawn Mus?!®

3 This means that he did not use the 117pd for his own benefit.

® Without the P09 (or Xn™2), we may have thought that even if there are 1011w 279, he is still required to swear
7 72 007w ®ow. This is the w17°n of this P09 (as interpreted by our n>12), that he is 7yawn ws.

7 Others explain that the reason he is 719 from the 7> 712 *NA%W K7W 7¥12W is because this 712w is only a 712w Y193,
the main 1312w is that he was not ¥ (or that it was an 01X). Therefore since in this case there is no need for the
712w Py, for there are 10IRIW 27y, therefore there is no 7AW 21373 of 77 72 °NR>W RHW.

¥ See 7"nX.
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